
Homework 11 – Solutions 
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Solution Mark Total Comment

(a)

(b)

Taxable income is £122,000 −

£12,500 = £109,500

20% tax is £37,500× 0.2 = £7,500

40% tax is charged on £109,500−

£37,500 = £72,000

Tax at 40% is £72,000× 0.4 =

£28,800

Annual tax paid is £36,300
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Total 7



Homework 11 – Solutions 

5) 

6) (a) Assumption: average person spends between 2 and 5 hours per day on 
their phone (1 mark)
Life expectancy 70 to 90 years (1 mark)

[2 to 5] × 365 × [70 to 90] =
[51,100 to 164,250] hours on smartphone (2 marks)

[51,100 to 164,250] ÷ 24 = [2,129 to 6,844] days of 
smartphone usage in a lifetime (1 mark)

(b) Comment such as: if I assumed a person spent more time on their phone 
each day the days of usage in a life time would increase/if I assumed life 
expectancy was lower the days of usage would decrease (or vice versa) 
(1 mark)

7) 


